
次の式を簡単にしなさい。

①　（x－4）（x－5）＋2x （x＋8）

③　（x＋6）2＋（x－2）（x－8）

②　（x＋7）（x－9）－5x （x－3）

④　（x－3）（x＋3）＋（x＋6）2

１０点×４

①

②

③

④

次の式を簡単にしなさい。

①　（x＋2y－4）（x＋2y＋4）

③　（2x－ y＋1）（2x＋ y－1）

②　（a＋ b－3）2

①　2（x－6）2－（x－3）（x＋4） ②　（x＋5）（x－2）－3（x－1）2

③　（x－7y）（x＋7y）－5（x＋2y）2

次の式を展開しなさい。
１０点×３

①

②

③

１０点×３

①

②

③

3x 2＋7x＋20

－4x 2＋13x－63

2x 2＋2x＋52

2x 2＋12x＋27

x 2－25x＋84

－2x 2＋9x－13

－4x 2－20x y－69y 2

x 2＋4xy＋4y 2－16

a 2＋2ab＋ b 2－6a－6b＋9

4x 2－ y 2＋2y－1

＝ x 2－9x＋20＋2x 2＋16x

＝ x 2＋12x＋36＋ x 2－10x＋16

＝2（x 2－12x＋36）－（x 2＋ x－12）
＝2x 2－24x＋72－ x 2－ x＋12

＝ x 2－49y 2－5（x 2＋4xy＋4y 2）
＝ x 2－49y 2－5x 2－20xy－20y 2

x＋2y＝Ａとおくと
与式＝（Ａ－4）（Ａ＋4）
 ＝Ａ2－16
 ＝（x＋2y）2－16

y－1＝Ａとおくと
与式＝（2x－Ａ）（2x＋Ａ）
 ＝4x 2－Ａ2

 ＝4x 2－（y－1）2

 ＝4x 2－（y 2－2y＋1）

a＋ b＝Ａとおくと
与式＝（Ａ－3）2

 ＝Ａ
2
－6Ａ＋9

 ＝（a＋ b）2－6（a＋ b）＋9

＝ x 2＋3x－10－3（x 2－2x＋1）
＝ x 2＋3x－10－3x 2＋6x－3

＝ x 2－2x－63－5x 2＋15x

＝ x 2－9＋ x 2＋12x＋36


